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Is ifpossﬂrle to reduce solute concentranon to 2.5 wt% in outlet raffinate stfeam by
“more solvent? Why?
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entiall constant ac0.5 ke snluﬁmﬂzg-msolnm&"* lid. Fir
qui . With such reasonable amount of solvent, calculate the am
verf ntw and the underflow slurry leaving the stage.
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ystals. T‘he crystalhzer operates at
\ssume that no water is vaporized

o _'ej -Call:ulate the yield of crystals. &
| d) Estimate the required cooling rate.

Enthalpy, Bu/Ib solution

0 onao 100.15 02002503{}{}35{:%&45&@
Concentration-mass fraction, MgSO,
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o smn rate of v water; Find the r 3
vulm®/kg dry air]=(2.8
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